
累次積分

定理 0.1 (累次積分).

φ1(x), φ2(x)を [a, b]で定義された連続関数で [a, b]で φ1(x) < φ2(x)とす
る。叉Ω = {(x, y)|a ≤ x ≤ b, φ1(x) ≤ y ≤ φ2(x)}とする。このとき、f(x, y)
を Ω上の連続関数とすると、∫∫

Ω

f(x, y)dxdy =
∫ b

a

(∫ φ2(x)

φ1(x)

f(x, y)dy

)
dx

が成り立つ。

証明. 下の図において、

F (x, y)を、

F (x, y) =

{
f(x, y) (x, y) ∈ D

0 (x, y) /∈ D

で定義すると、∫∫
D

f(x, y)dxdy =
∫∫

[a,b]×[c,d]

F (x, y)dxdy

=
∫ b

a

∫ d

c

F (x, y)dydx

=
∫ b

a

(∫ d

φ2(x)

F (x, y)dy +
∫ φ2(x)

φ1(x)

F (x, y)dy +
∫ φ1(x)

c

F (x, y)dy

)
dx　

=
∫ b

a

(∫ φ2(x)

φ1(x)

F (x, y)dy

)
dx
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